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Q.No: 1 When was the community development program started in India?
2622391

HRA ¥ AT (e ST H $e YR fban T Ure

1947
A

1947

1950
B

1950

1951
C

1951

1952
D

1952

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 2 The Emergency Provisions were borrowed from-

2622483
SHTATTHTE Hae™ SYR forg 71T -
Germany
A
i
Austria
B
UK
C
America
D
ST

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 3 As per Article 368 "Special majority + 50% is called simple majority" Where can it be changed?
2623692

TG 368 H TR "I IGHA + 50% T AYRY SgHd Hel 9T 3" 5H Hel aGa off Tl 82

Increase seats in Parliament

I § W Tere

B Changes in Central and State Lists
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FE iR g it 7 uRadT

Change in Union Territory
C

F% AT 73 # F5aa

Increase the number of other judges
D

ST TR B e Serd
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 4 What is the name given to the northernmost Himalaya range in India?
2624535

URT H T I fewrera e o1 @ A faan w2

Himadri
A

femmsht

Himachal
B

fewmaa

Shiwalik
C

Rratfea®

Trans Himalaya
D

g fewme
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 5  Which of the following dates marks the equinox, the two times of year when day and night are equal?
2624589

T & 9 P @ aRD Iy 3 it $<dl €, 96 & < T99 99 G SR A SRR 81 82

21 March and 23 September

A

21 A 3R 23 R

22 February and 23 August
B

22 TRaH $R 23 R

15 October and 23 April
C

15 3ageR 3R 23 e

22 July and 22 December
D

22 JaTs 3R 22 iR

Correct Ans : A

Subject : General Knowledge graduate

Q.No: 6  Who invaded and conquered the Chanderi Fort of Madhya Pradesh in 1528 AD?
2651913

1528 €. H 07 Jo & 9 et W e smpmon faan oik 9 ot ferar?
Babur

CICES

B Krishna Dev Raya
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P 39 X
Ibrahim Lodhi

gofew asht

Rana Sanga

IO |
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 7 A Kathakali performance begins with
2679696

HUFHAT T BT Lo /R 7

Todayam

EISLL

Tiranokku
B

Kelikottu
C

Melappadam
D

ATy

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 8  On the banks of which river is the Bara Imambara located?

2680647
TR ZAMETST b et & d¢ W RRa 82
Yamuna
A
g
Gomti
B
Mt
Sabarmati
C
AT
Kaveri
D
Each

Correct Ans : B

Subject : General Knowledge graduate

Q.No: 9  Select the true statement. based on the following geographic characteristics:
2683545
I) A geographer named Carl Ritter introduced the term "Madhyam Marg," which represents a halfway position between the two theories of environmental determinism and possibil

II) Human activity leaves its mark everywhere, including in the form of health resorts on mountaintops, massive urban sprawls, crops, orchards, and pastures in plains and rolling
coastlines, marine routes on the ocean floor, and satellites in space. Early scholars referred to this as possibilityism.

III) Humans create better, more effective technologies as their societies and cultures advance.

TE BT BT 9o B | FEfefad e faRwarsi & emuR w:
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1) $Tet Rex TS T 1ierd = "0 ARl Yeg U1 f3a, S vafavufta frafiare ok Surasn & S Rigiat & o endh fufa &1 ufaffie ovar 31

11) A4 TR 8= SFTe oo+t BT Bt B, forad uersl 3t 9t W ey Reicy, 99 I W wedt tara, wud, It ofR Agmt ofR e ugifeal H TR, WK del W dEE, WHE a9 W 9
IR g 3 3§ FutaaTe & w0 § Fehfa fFan

1I1) AT 3T T SR SR F 3 §e7 & A1y Toer, 3ifie Tt drefifdsat &1 feior xa g1

Only I is correct

A
Faq 1§
Both I & II are correct
B
I 3R 11 3 e §
Both II & III are correct
C
II 3R 111 g udt &
Only III is correct
D

&ad III et §

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 10 Which of the following space agencies are involved in the Crew Demo-2 mission?
2683606

F S -2 faem @ Fofafea § § 19 9 siafve woreh gt 82

NASA and SpaceX

A
T SR EETe
SpaceX and ESA
B
TR 3R $THY
NASA and ESA
C
AT SR TN
JAXA and NASA
D

ST SR ST
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 11  Who is known as the "Queen of Soul"?
2684906

"I F IE F TG F Y ST W 22

Whitney Houston

A
fReh ggze
Beyoncé
B
Eeic]
Aretha Franklin
C
YT rafer
Diana Ross
D
ST T

Correct Ans : C

Subject : General Knowledge graduate
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Q.No: 12 Union Minister of Road Transport and Highways Nitin Gadkari inaugurated Zuari bridge in which state/UT of India?
2691622

Fola gsF uRag SR Jerrf wEt Ao Tewdt ¥ wRd F for Twa/ds Wi v W et ga &1 Sgured fare

Kerala
A

P

Goa
B

e

Himachal Pradesh
C

fearea W=

Andhra Pradesh
D

sy
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 13 Which of the following groups of states has the largest deposits of iron ore?
2732590

Froffed st & 3 forg wiE § die 3 1 9aY 991 HSR &2

Madhya Pradesh & Karnataka

A
A TR AR FAfeP
Rajasthan & Maharashtra
B
IR 3R AFRTY
Uttar Pradesh & Himachal Pradesh
C
IR e IR fewrEe e
Bihar and Orissa
D

faew ok S

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 14 Buddhist Monuments a UNESCO World Heritage site located in which state?
2732713

g WRS Tvh! BT 3y eRieR =i e g & fRua 72

Himachal Pradesh

A
feamaa W=
Rajasthan
B
ST
Delhi
C
foeeht
Madhya Pradesh
D

e Y

Correct Ans : D

Subject : General Knowledge graduate
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Q.No: 15  Which of the following books is not an autobiography?
2732809

Fafifea 3 § $ W e T BT T 37

Wings of Fire
A
e e wrER
Mein Kampf
B
B9 PO
The Race of My Life
C
3 X 3T A A%
Paths of Glory
D

I 3T TARY
Correct Ans : D

Subject : General Knowledge graduate

Q.No: 16 Where is 'Bibi Ka Magbara' located?

2733206
it BT AHERT FEl UG 87
Sasaram
A
AR
New Delhi
B
7 et
Aurangabad
(o}
iR
Raisen
D
IR

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 17 Paintings of Lepakshi are found in which state?

2733327
Jeht T frw s & i ot §2
Maharashtra
A
HERTY
Andhra Pradesh
B
iy T
Assam
C
3_qH
Chhattisgarh
D

i
Correct Ans : B

Subject : General Knowledge graduate
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Q.No: 18 Select the synonym of the given word.

2621401
Serene
A Unfamiliar
B Peaceful
C Upright
D Precise

Correct Ans : B

Subject : General English graduate

Q.No: 19 Select the word which means the same as the group of words given.
2621552

A principle or standard by which something may be judged or decided.
A Horizon
B Criterion
C Podium
D Mosaic
Correct Ans : B

Subject : General English graduate

Q.No: 20 In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one which best expresses the same sentence in I
2629979 gelect your answer.

“My friend will come tomorrow”, Namrata has already told us.
A Namrata has already told us that my friend would come the tomorrow.
B Namrata has already told us that her friend will come the next day.
C Namrata has already said to us that my friend would come the next day.
D Namrata has already told us that whether her friend comes the next day.
Correct Ans : B

Subject : General English graduate

Q.No: 21  Select the meaning of the given idiom.
2631467
To be in abeyance

A To be in working condition
B Working very hard

C Willingness to work

D To be in suspension
Correct Ans : D

Subject : General English graduate

Q.No: 22 Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2648714
A few states across the country have remained good.
A relatively
B vary
C perfect
D timely

Correct Ans : A

Subject : General English graduate

Q.No: 23 .
2665297 Select the incorrectly spelt word.
A Amateur

B Harrasment

C Climactic
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D Definitely
Correct Ans : B

Subject : General English graduate

Q.No: 24 Improve the bracketed part of the sentence.
2665565

They were angry (since) their plans had been discovered.

A as

B therefore

C because

D No Improvement

Correct Ans : C

Subject : General English graduate

Q.No: 25 In the below question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses the same sentence in Indir

2676330
"And where must I take the poor creature?" said the servant.
A The servant asked where must he took the poor creature.
B The servant asked where must he take the poor creature.
C The servant asked where he must be taking the poor creature.
D The servant asked where he must take the poor creature.

Correct Ans : D

Subject : General English graduate

Q.No: 26 In the sentence, identify the segment which contains the grammatical error.
2677449

Since canine brain structures and processes are potential as unique and complex as ours, it will require years of tests to decipher how they work.
A it will
B No error
C decipher how they
D potential as unique
Correct Ans : D

Subject : General English graduate

Q.No: 27 In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free fro
2680838 She is requesting me to do it as her mother has not been doing well.

A She is requesting me to do it

B as her mother

C has not been doing well.

D No error

Correct Ans : D

Subject : General English graduate

Q.No: 28 The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent sentence.
2689649

A day after clocking the lowest minimum temperature in a decade,

P. due to overcast conditions

Q. including Ladakh region, rose by several degrees

R. mercury across Kashmir division,

A PQR
B PRQ
c RQP
D RPQ

Correct Ans : C

Subject : General English graduate
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Q.No: 29 Out of the following choose the word which expresses the right meaning of the given word.

2692880
ACCENTUATED
A Exhibited
B Heighten
C Mitigated
D Sharpened

Correct Ans : B

Subject : General English graduate

Q.No: 30 Select the most appropriate meaning of the given idiom.
2729322

Long in the Tooth.
A Extremely dangerous.
B Too wise for people.
(o} Too old to do something.
D Too uncomfortable for words.
Correct Ans : C

Subject : General English graduate

2'7'\‘70:’.:43918 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.
A Voluntary

B Vaccuum

C Vehical

D Vegeterian

Correct Ans : A

Subject : General English graduate

Q.No: 32 A sentence with an underlined word is given below. Find the Word which is most similar in meaning to the underlined word.
2773500

I begged him to be more careful.

A cautious

B negligent

C notorious

D complacent

Correct Ans : A

Subject : General English graduate

Q.No: 33 Fill in the blank with the correct Preposition.
2773505

He was attacked and seriously injured a gang of robbers.

A by

B from
C of

D into

Correct Ans : A

Subject : General English graduate

Q.No: 34 Fill in the blank with the correct article.
2773509

main attraction of this butterfly is its rareness.

An

C The
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D No article required
Correct Ans : C

Subject : General English graduate

Q.No: 35 Which of the following statements about Time Division Multiplexing (TDM) and its variations is true?
2635735

ey fediom neiafai (i) ofR gue! fafdudst & aR & Fufofad # ¥ o1 91 Fu7 99 82

Statistical TDM do not use the bandwidth

A
witereta ddten Ssfagy o1 Sugh 78 F3a §1
TDM requires the transmitter and receiver to be synchronized periodically
B
ASTH B THY-THY R iRieR 3R RRfiR #Y Rish1gw &1 #1 smaxgwar gidt 81
TDM performs efficiently if the arrival pattern of the data stream is probabilistic
C
gfe eT W BT WA Y Hured ? df Ay pRIeagde Srf wRar 21
TDM is efficient if the data stream is deterministic
D

gfe o1 W Frgaras § @ ey o= 21
Correct Ans : B

Subject : General Computer Graduate

Q.No: 36 What is the use of output devices in a computer system?
2635856

FoeR Ren # a3eye fSamy &1 Sud F@ 82

Return processed data

A
et idvs ster
Return all data
B
et aifar ster
Return date
C
fei e
Return raw data
D

et < s1er
Correct Ans : A

Subject : General Computer Graduate

Q.No: 37 What is the shortcut key to insert current date in a cell?
2636867

et I & At fafd s & fore widee $oft @@ 32

CTRL++
A

CTRL++

CTRL+T
B

CTRL+T

CTRL+D
C

CTRL+D

D CTRL+;
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CTRL+;
Correct Ans : D

Subject : General Computer Graduate

Q.No: 38 In which area does computer aliasing take place?
2636884

PR BT AR (aliasing) e 851 F € € 2

Utilize distinct symbolic identifiers in the application to locate data in memory

A
AR F F2T BT U1 A F AT e ¥ AR ydierae tgameatsi (symbolic identifiers) T UGN B
Utilize identifiers in the application to locate data in memory
B
AR # a1 BT v @R & g e # ugAESaish (identifiers) T SUGRT B
Utilize distinct symbolic identifiers/
C
TRy udier® tga®atel (symbolic identifiers) ®T STGRT HY
Utilize distinct symbolic identifiers data in memory
D

A 7 Ry udiere® yg=a®dt (symbolic identifiers) 3T &1 IUEIT &Y

Correct Ans : A

Subject : General Computer Graduate

Q.No: 39 Which one of the following is an antivirus software?
2637004

FofifRd & § -1 16 THarRY Sa 32

W9o7M
A
W9o7M
Quick Heal
B
P € (Quick Heal)
Cascade
C
FHs
Latest Protection
D

Tda9 JR&T (Latest Protection)
Correct Ans : B

Subject : General Computer Graduate

Q.No: 40 Which of the following is not on Home ribbon?

2638953
T I BH-91 8 Red R &Y 82
Columns
A
PHicH
Font color
B
Bive FAX
Bold
C
qies

D Font

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiu47 Eooale Play

~

BIoe
Correct Ans : A

Subject : General Computer Graduate

Q.No: 41 Bandwidth and which of the following are the two main factors to consider while designing a data transmission system?
2639087

T TR R &Y feomed v w0y defagy ok Fafafad & @ & -1 < Ie7 &R § F W fagr fevar s aifgee

Data flow
A

e

Data Path
B

e vy

Frequency
C

fraaet

Distance
D

==

Correct Ans : D

Subject : General Computer Graduate

Q.No: 42 An example of value inside the Name box of an Excel sheet is
2639119

TR e & 9 Sia & 3ieR g BT b IR §

11BB
A

11BB

1112
B

1112

B22
[

B22

$12$A
D

$12$A

Correct Ans : C

Subject : General Computer Graduate

Q.No: 43 In computer graphics, the basic geometric transformations is/are:

2645144
SR Athad o, TS MG TR (geometric transformations) Al
Only Translation
A
Haw oaTe
Only Rotation
B
Haa i
Line
C
@

D Both Translation and Rotation
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3aTg 3R A Y
Correct Ans : D

Subject : General Computer Graduate

Q.No: 44 If hackers use their knowledge unethically to break the law and disrupt security by exploiting the flaws and loopholes in a system, then they are called:
2675441

It ¥HY 3o I BT ITANT 3fad FU Y FH e SR Rieew § @iftrdl ofR @il 1 Bragl SoTHR JR&T B afid H3 & T X §, A S Hel I 3

Black hats hackers

A

A 3T B

White hats hackers
B

Fige ¥ IR

Grey hats hackers
C

¥ e Fd

Green hats hackers
D

o e fad

Correct Ans : A

Subject : General Computer Graduate

Q.No: 45 Which item, contains text graphics, charts, sound, video, etc., in power point
2678270

IR e & f5d omgen # 2o Withaw, 91, IS, difear onfg g0 €

Slides
A
RSIES)
Folder
B
kg
Handouts
C
FemSH
Desktop screen
D

perd B
Correct Ans : A

Subject : General Computer Graduate

Q.No: 46 Which of the following is a primary input device of every microcomputer?
2681059

Frofafed & § $9 91 Ude AsH! FHR B Wuftd $Ye fSarsy 32

Keyboard
A

P

Mouse
B

Rijrcss)

Track ball
c

% afa

D Display
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faa

Correct Ans : A

Subject : General Computer Graduate

Q.No: 47 Which of the following is a software program designed to control a particular hardware device attached to computer?
2681066

Fafafed # ¥ o1 @ @ FrHedm T ¢ iR $He 3 93 U Ry SR fsary &1 Ffia o & f e foan man 32

Device driver

A
fEargw g
Utility software
B
gfefrdt wivedar
Application software
C
TSR Hivedar
Customised software
D

FREHTSS AIFedaR
Correct Ans : A

Subject : General Computer Graduate

Q.No: 48 B.C.C. stands for?

2684482

fiefiedt @1 oref 22

Blind Carbon Copy
A

WSS PTa HIGT

Binary Coded Circle
B

T PISS WHA

Bearer Channel Connection
C

R 9 PR

Block Check Connection
D

AP AP FARE
Correct Ans : A

Subject : General Computer Graduate

Q.No: 49 Evaluate the binary sum of the following numbers: 00011010and10001100.
2694121

Froffea gemslf & S G ST qRieT $: 0001101 03R 10001100

10000010
A

10000010

11110110
B

11110110

10100110
[

10100110

D 10100000

GET IT ON
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10100000
Correct Ans : C

Subject : General Computer Graduate

Q.No: 50 Which is a storage buffer that stores the data that is used more often, temporarily, and makes them available to CPU at a fast rate?
2698827

B N TH TR TR 3 SN 31T IR ITANT T 1 a1 3T bt St 0 & TR ol © 31k S e X WR Wi bV Iuci Tl 82

Primary memory

A

g A

Cache memory
B

I AN

New memory
C

g AARY

Buffer memory
D

Euag:nin

Correct Ans : B

Subject : General Computer Graduate

Q.No: 51 Select the option that is related to the figure in the same way that the second figure is related to the first figure.
2629430

GET IT ON
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Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 52 Read the following bar diagram carefully to answer the question given below.
2641101

Marks obtained by five students in different subjects - Maths, English and Science - in an examination.

uMaths wEnglish wScience @

g 1$ %03 92
; 80 78 72 &0 4 7
g 7 58
a - 2
50
|
£ 2
O 20
£ 10/
£ 0
Rajeev Narendra Amit Veena Ramesh

Students

By what percentage (approximately), the marks obtained by Amit in science is less than that in Maths?

2 fw e vy o7 IR 39 & o Ffifed SR ova # e @ U U wien A ffie fawa - 7w, Sl ok faw B e o gR U 3i)

@ Maths wEnglish wScience @

g1$ 50sg 92
80
3 o0l2, " 78
& n -
2 60 : 2
50
|
£ 2
© 20
£ 10/
£ 0
Rajeev Narendra Amit Veena Ramesh
Students
Hftrd Y g & U 3i S RN A T i § e wfawra (@) %1 82
21
A
21
24
B
24
22
C
22
18
D
18

Correct Ans : D
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Subject : General Aptitude Graduate

Q.No: 53 Five children are sitting in a row. S is sitting next to P but not T. K is sitting next to R, who is sitting on extreme left and T is not sitting next to K.
2642147

Who are sitting adjacent to S?

U T TH UK A IS §1'S, P F a0 § 98T € AfhT T & U A1 J6T § | K, R & F10 H JoT 8, S oY 918 SR 9313 3R T, K & F1a & eI Jo7 &

S & I B IS 87
K and P

K 3R P

Rand P

RIR P

Only C

Fad C

Pand T

P3RT

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 54 Arrange the given words in the sequence in which they occur in the dictionary.
2645655

1. OSDDKJF 2. OSDDFK]J 3. ODSFDIK 4. JDFGDS 5. OSDKFRF

T 7T <! BT gD A M AT HH H Faryd B

1. OSDDKJF 2. OSDDFK]J 3. ODSFDIK 4. JDFGDS 5. OSDKFRF

45325
A

45325

43215
B

43215

42135
C

42135

32415
D

32415

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 55 8 personsE, F, G, H, I, ], Kand L are seated around a square table - two on each side. There are 3 ladies who are not seated next to each other. J is between L and F. G is betwee
2663923 5 second to the left of J. F, a male member is seated opposite to E, a lady member. There is a lady member between F and I. Who among the following is to the immediate left of

8AMKIE, F, G, H, I, J, K 3R L TF FHR AS & IR 3R I3 & - TP Yol W QN 3 AR § N U6 g & 97 § 181 931 §11, LIRFF T HRI G, 1 3R F & §9 A B H, T afee wew, )
F, T oY 9GW, U% AfRAl UG, E & 9 Sa1 81 F 3R 1 & o9 e ufiear Iew 81 Fufafed & @ & F & die a1d 381 82

A
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I

H
C

H

J
D

J

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 56 In the following question, select the odd word from the given alternatives.
2665052

e v #, for T et & 9§ favm v &1 9

Pebbles
A

HhS

Rock
B

T

Humus
(o}

T ()

Stones
D

TR

Correct Ans : C

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 57 In the following question, a group of three numbers are given. The given numbers are related to each other by a logic /rule /relation. Select the one which follows the same logic /

2669888 jternatives.

(9, 36, 16)

Frafafed vy #, &= gemelt &1 te wg fea ma 71 T T ofd Ue ad/Mom/are gR1 U g ¥ eifdd §1 T e fawedl B & I adh/am /Ay BT SR R ard H1 999 B

(9, 36, 16)
(5, 40, 49)

(5, 40, 49)
(6, 80, 25)

(6, 80, 25)
(8, 40, 25)

(8, 40, 25)
(7, 65, 81)

(7, 65, 81)
Correct Ans : C

Subject : General Aptitude Graduate

26'\‘7%5!189 A sum of money amounts to Rs. 13,730 at 16% p.a. compounded semi-annually
inl %yea.rs_ Find the interest accumulated on the sum for the same period.
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e MR 8% TR HTdad el F A T F 15 aH 13,730 € &7
ST 8| AT GHY F TR O 916 arent sarst A ffed?

Rs. 1,212
A

1,212 393

Rs. 1,328
B

1,328 ¥

Rs. 1,524
c

1,524 300

Rs. 1,642
D

1,642 303

Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 59 The sales of cars increases by 20% every year. There are only two competitors in the market Hyundai and Mahindra. Their market shares are 45% and 55% respectively in 2017.
2673216 of jts customers (in 2017) to Mahindra and Mahindra loses 40% of its customers (in 2017) to Hyundai. If the market growth is divided in the ratio 3 : 1 in favour of Hyundai, whe
in 2018?

kT H HRI BT fIH TR A 20% ¢ el 31 TOR & Fadt &1 YHR & Gl Siug 3R BS 81 1991 & I7ehT IoIR QTR HHL: 45% 3R 55% U7 11992 & Sfiud 3= Tghli(1991 H) BT 20% &
) WIS U TSI (1991 H)  FT 40% SITH I 37047 @ &1 31 A TR i B Sfieq & ef & 3 ¢ 1 & 3rgura A fyuiford fovan Sram 8, @ 1992 # IS &t aoiR fewdardt #r ot »

47%
A

47%

40%
B

40%

39%
[

39%

25%
D

25%

Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 60 A man sells his goods at 21% loss on selling price. Find actual loss%?
2673343

T AfF et avg $ fawae W 21% T | 39301 31 IR §1 % I1d HA|

44
16 55, %
A
44
16 55, %
41
17 5 %
B
41
17 5 %
2
155 %
C
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Correct Ans : B

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 61 In question, a few statements have been given followed by some conclusions. Consider the statements to be true and answer which of the given conclusions are correct with respe

2679799
Statements:

All songs are poems.

All poems are rhymes.

No rhyme is a paragraph.
Conclusions:

I. No song is a paragraph.

II. No poem is a paragraph.

Y H, $O FU & 918 FB IFY QT T F| FY F TG A S8R SW & F AU T A B $9-91 59 w8 7
FU:

Tt i Hfaard &1

oft g geped €1

IS gebsdl IRRNG T 81

forepd:

1. PIg T IRE T 21

11, BT S R & 81

only conclusion I follows

A

Fad frepd 1 SR HRaT 7

only conclusion II follows
B

Fae ey 11 IR BT &

either conclusion I or conclusion II follows
C

a1 ot sy 1 ar free 11 SrgeERoT SR §

both conclusion I and conclusion II follow
D

s 1 iR e 11 T SR B &

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 62 In the following questions, a few statements have been given followed by some conclusions. Consider the statements to be true and answer which of the given conclusions are cor

2679943 statements:

Statement I: Some roses are sunflower.
Statement II: Some sunflower are marigold.
Statement III: All marigold are lilies.
Statement IV: No rose is tulip.

Conclusion I: Some lilies are sunflower.
Conclusion II: Some lilies are roses.

Conclusion III: Some marigold are tulip.

Fraffed vl # 3o i & a1g $o sy T U 7| Fu &) 9 aHeR I R few e et # § $9-91 v F ey ¥ 98 §:
DU I: $B AT FATAR B

DU 11: $ JATAR RS B

FU 111 9ot Fdiies forelt € 1
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B 1IV: BT T S e 8
=y I: o foreht ToaTR € |
Y 11: 3% foct TEe © |

=y 111: v Hiies e B

Only conclusion I follow

A
Fad frspd 1 SR FaT 7
Either conclusion IV and III follow
B
a1 @t ey 1V SR IIT SIgER0T #vd &
Both conclusions I and II follow
C
Y fre 1 8fR 1T SRy Fvd &
Only conclusion II follow
D

Fad fepd 11 FERT HaT &
Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 63 Identify the diagram that best represents the relationship among the given classes.

2755672
Non-biodegradable substances, plastic, paper

I IR P T I} Sl G T AT F S Yoy BT G 3T Wi wRar 31
R-IASISe yerd, @i, HHT

@
@
©

Correct Ans : C

GET IT ON

Google Play
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Subject : General Aptitude Graduate

Q.No: 64 Which two signs should be interchanged in the following equation to make it correct?
2755700
25-10x2=5+15+51

Frafifed giieu 1 9el $37 & g 51 @ REl $1 oo # sae amfee?

25-10x2=5+15+51

= and x
A

= 3R x

X and -
B

x 3R -

-and +
C

- R+

+ and x
D

+ 3R x

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 65 Select the option that will come next in the given series.
2755710
Question Figure:

I faped &1 T R N & TE g F ST ST

e i

5 @

=
=
°
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Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 66 Anil, introducing a girl in a party, said, she is the wife of the grandson of my mother. How is Anil related to the girl?
2755727

Y 3 T U W U dsd! H1 uRey A §U FE, 98 B W U B Ul 71 i dst @ fry yeR Hela &2

Father
A
far
Grandfather
B
<rar
Husband
C
ufy
Father-in-law
D

Skl
Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 67 The average weight of A, B, C and D is 33kgs. C is 12kgs lighter than A while B is 6 kg heavier than C. D’s weight is 10 kgs less than that of C. What is the average weight of A an

2629533

A, B, CTUT D T 3i1d R 33 5 81 C, A ¥ 12 {5 g1 & Wafh B, C ¥ 6 5o URY §1 D &1 YR C & YR ¥ 10 & &1 §1 A TU1 D &7 37d R faven g2

32 kg

A
32 fraum
33 kg

B
33 fraum
34 kg

c
34 fraum
35 kg

D
35 fFaum

Correct Ans : A

Subject : General Maths graduate

26'201:66788 What should come in place of the question mark (7} in the following question?
(V196 + 432 + 12)%o0f 720 =7 % of 900
Frafafed uy O uares &g (7) & WA R AH 918
720 D1 (/196 + 432 = 12)% =500 BT 7%
75
A
75
40
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40

35
C

35

45
D

45

Correct Ans : B

Subject : General Maths graduate

QNo: 69 1 4 AABC, right angled at B, AB = 7 cm and (AC - BC) = 1 cm. The value of (sec C + cot A) is:

2643126
AABC H, B REHSINE, AB = 7 cm 3R (AC - BC) = 1 cm &1 (sec C + cot A) &AM &:
19
24
A
19
24
1
: |
B
1
: |
3
4
C
3
4
1
D
1

Correct Ans : B

Subject : General Maths graduate

Q.No: 70 A merchant has 900 kg of sugar, a part of which he sells at 10% profit and the rest at 16% profit. He makes a profit of 12% on the whole business. The quantity sold at 16% profi

2647728

T AR & U1 900 o i+t B, RiehT T YT 98 10% TIH W 3R A 16% TIH TR S9aT 81 I8 T TMUR | 12% BT A1 B ¢l 16% oY W 3= TS AL &:.

400 kg
A

400 f&m

450 kg
B

450 f&m

600 kg
c

600 fam

300 kg
D

300 f&m

Correct Ans : D

Subject : General Maths graduate

Q.No: 71

2667338 1fa+ b+ 1=0 then whatis the value of (a® + b + 1 — 3ab)?
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Iiga+b+1=0dr(a®+b*+ 1 —3ab) FTHT FATE?

-1
A

-1

1
B

1

3
C

3

V]
D

V]

Correct Ans : D

Subject : General Maths graduate

Q.No: 72 Find the perimeter of a triangle having sides of lengths 5.5cm, 6cm and 6.5cm.

2671431

5.5 34t 6 I 3R 6.5 Yt TS aret Py 1 uikEg | i

14 cm
A

14 3

18 cm
B

18 3t

21 cm
c

21 Ff

19 cm
D

19 3t

Correct Ans : B

Subject : General Maths graduate

Q.No: 73 The volume of cube whose edge is 3a is?

2671482

Y BT T Tt fpRT 3a 82

3a®
A

3a®

27a%
B

27a%

9a®
C

9a®

6a°
D

6a°

Correct Ans : B

Subject : General Maths graduate
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Q.No: 74  After replacing an old member by a new member, it was found that the average age of five members of a club is the same as it was 3 years ago. The difference between the ages
2672437 member is:-

TF RM TG $ ¢ Ja& gRT VAT S F 18, T8 Url T & U a9 & Ufa Gl &1 3 g 3 a9 Ul ot 31 TR 1R ¢ 9ew &1 3M1g & o9 &7 SfeR §:-

2 years
A

29

4 years
B

499

8 years
C

8 ay

15 years
D

15 af

Correct Ans : D

Subject : General Maths graduate

Q.No: 75 A book consists of 30 pages, 25 lines on each page and 35 characters on each line. If this content is written in another book consisting of 30 lines and 28 characters per line, ther
2672673 il how much percent greater than the previous pages?

TH GW% H 30 UY 7 IR TS U§ H 25 A1 SR UAS a1 A 35 e 1 It 30wl o) foredt o s o foredt ot |, o 30 @rs oIk 28 s1eR wfd @rsA §, o siavues gul 3t e fsd
3P gfte

5.66%

5.66%

6.66%

6.66%

5%

5%

3.6%

3.6%
Correct Ans : B

Subject : General Maths graduate

Q.No: 76 A small aeroplane can travel at 320 km/h in still air. The wind is blowing at a constant speed of 40 km/h. The total time for a journey against the wind is 135 min. What will be the
2672933 return journey with the wind? (ignore take off and landing time for the aeroplane)

T BIeT g1 el fRR gal & 320 . /der &) 1 & amn R Yavd 31 §a1 40 /68 31 TR & 9 W 71 79 & s I A A $o 135 e ST 90y Tt §1 591 & WY qnos ann dA H
F fIT IRA 3R IS & TG T 3FET HY)

97.5 min.

97.5 min.

105 min

105 min

120 min

120 min

D 127.5 min.
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127.5 min.
Correct Ans : B

Subject : General Maths graduate

Q.No: 77 A train crosses a man going along the railway track at 13.5 km/hr. The man could see the train upto 4 min then find the speed of the train if due to fog he can see upto 1.9 km ani
2672955 etre?

T ¢ 13.5 . /Her 31 IR ¥ Yad T W S I UH MG B IR HR Sl g1 SHeH 4 e 9o ¢ Bl 3@ Il 7, I Higk & BRI I8 1.9 b, 96 @ govdr @ $iR ¢ @t was 500 HieR §,

49.5 km/hr
A
49.5 fove. /der
54 km/hr
B
54 f5Ht. /der
44 km/hr
C
44 &, /der
40.5 km/hr
D
40.5 fove. /der

Correct Ans : A

Subject : General Maths graduate

Q.No: 78 Alok, Mithilesh, and Bimlesh started a work and after completing 1/5th of the work Bimlesh left. Alok and Mithilesh then worked for 20 days. Bimlesh then took over from Alok anc
2673064 the remaining portion of the work in 12 days. If Bimlesh takes 40 days to complete the work, in how many days would Alok alone complete the work if the efficiency of Alok is 502

3T, e SiR fomaer 3 v FW P fora 9 1/5 $ 18 & 918 foma agf & = M1 $9% 918 s iR MARer 3 20 T o o favan) famer ¥ a9 sdie ik Ay & ugHR Tv
I QR R o1 afg o &1 & g A § 40 7 @ 7, dF o il e ot H S gy AR o, OfR ol Bt Fr e MRS § 50% waTeT 82

41
A
41
60
B
60
45
C
45
66 2
D
66 2

Correct Ans : D

Subject : General Maths graduate

Q.No: 79 A sum of money doubles itself in 15 years, if invested at simple interest. What is the rate of interest allowed on the investment.
2680257

Ife TR ST R A forar S, & 15 9y § IG@T gauT ST 81 S 31 R R S it R faeh 37

SéYears
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8- ag
3
1
6EYeaIs
C
61
3
SEYeaIs
3
D
sgatf

Correct Ans : D

Subject : General Maths graduate

Q.No: 80 The area of square is equal to four times the area of a rectangle of length 117 cm and breadth 13 cm. What is the perimeter of the square?
2687448

wF 1 BT &, TH AT S &A%d $T IR T § et arars 117 it qur s 13 It §1 vl &1 ufmma @ g

310 cm
A

310

308 cm
B

308 ot

312 cm
[

312 it

300 cm
D

300 ot

Correct Ans : C

Subject : General Maths graduate

Q.No: 81 The profit earned on selling a product for Rs.2620 is twice the loss incurred on selling the same product for Rs.2290. What will be the selling price of the product when it will be s¢
2687845

¥.2620 H TF IAIE $I 991 W Hffd 1Y, T IATE BT $.2290 H 99 R §U JHUH ST QNI 31 IdTQ $1 fashd Ted 31 G 916 98 15% 1Y TR 3= STET?

Rs.2400
A

%.2400

Rs.2500
B

%.2500

Rs.2350
C

%.2350

Rs.2460
D

%.2460

Correct Ans : A

Subject : General Maths graduate

Q.No: 82 A can contains a mixture of two liquids 'A' and 'B' in the ratio 7:5. When 9 liters of mixture are drawn off and the can is filled with 'B', the ratio of 'A' and 'B' becomes 7:9 liters. Lit
2696107 the can initially was?
T FTH A GA A SR B FT 7:5 F oFurd H o §1 519 9 cfex Misyor 1 1R FMepTar e § 97k I9S WM W §9 B HT 30T 7:9 B 1l &1 YR H H H fora cfiex 59 A 4R 12

10 Liter
10 iR
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B 20 Liter
20 dex
c 21 Liter
21 der
D 25 Liter
25 dex

Correct Ans : C

Subject : General Maths graduate

Q.No: 83 A man undertakes to do a certain work in 150 days. He employs 200 men. He finds that only a quarter of the work is done in 50 days. The number of additional men that should t
2696410 \yhole wok will be finished in time is:

T e TF B 150 oAl H g1 37 & forw oar &1 39 98 200 afad Fgad wvar &1 S¥ dr Iaan § 5 50 ol § Saa - S G oM 31 TEER 98 HI YT 9 R [ A & g, I
B Bh?

100

100
125

125
50

50
75

75
Correct Ans : A

Subject : General Maths graduate

QNO: B4 frmifeia § & wi-w1 2w agehfe R 1 el el A 87

2660106
A qaTior
B TsHuTior
C TERER
D TATR

Correct Ans : D

Subject : General Hindi graduate

QNO: 85 frotuiag & & v wIea 31 T FIRT-

2660260
A 4

B HU
C qrar
D @ferg™

Correct Ans : A

Subject : General Hindi graduate

QNo: 86 frfiam <ree-Tg] & § -1 fied 3=l X8 1 WEl SR 87

2660265
A fia, HIE, AlRee
B THGY, TS, TS
c die, U=, Prdt

D qRIE, ResTs, T+

Correct Ans : B

Subject : General Hindi graduate

Q.No: 87 R —
3660452 Fofifad # 9 g &1 faam e 71 82

A g
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B LEN
c &
D amraE

Correct Ans : C

Subject : General Hindi graduate

Suk %, "ot o1 e v 7 2 e
A TSIl

B Ie®

C Licsat

D ureHait

Correct Ans : B

Subject : General Hindi graduate

3&'1;%88790 7§ ¥ PH-W Red T TR aftfe o 31w e 82
31 i BT 7O 719 I
g qaiwR w diei
o famrk ofg ®m grm
Hf = 33T aRom R
o & Tt 2R FY Fwiar d
e s A fda 8 mam T
fira ufer a5 B, IO WY FET 22
g\ Wty § galt, BT WeRT Bl 82
9 a% forae! #, 3@ & N " §
TE §SU TARI, AR B 82
qR G TH T T BT TS Y Freit|
Ul die auER oRt it et famm A

Correct Ans : C

D

Subject : General Hindi graduate

QNo: 90 £ 3% 3 Wigp et Fromay/ P @1 70 Fivme-

2660883
A B, TG, AT, TP
B Eal

c Sft 7€, 7Y

D &, oft, st &f

Correct Ans : D

Subject : General Hindi graduate

Q.No: 91 = fu Tu arem & e & @ fopw forr g o1 vt fopan e @2

2661294
TER () B & eI vt US P Bt e H|

A Tt e

B ol g

o Iz fag

D PP e

Correct Ans : D

Subject : General Hindi graduate

Q.No: 92 =R W= & Uig o AT MY B1 §% 39 ORE HHeg P 6 379 o arefyef ufkede o 9, i 39 a1e fw T st & & Ot fawen &1 907 S
2661436 R

B. forg =1 # ARai

C. 3R T F e e 7,

D. 3R auil @1 fadw awn

E. 9 '3 ®ed ol


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

ABDCE

A

B BDACE
C EDABC
D

CDBAE
Correct Ans : B

Subject : General Hindi graduate

Q.No: 93 =R W= & Uig oA AT MY B1 §° 39 ORE HHes P 6 379 o arefyef ufiede s 9, iR 399 a1e T T st & & Ot fawea &1 907 S
zoetast A, SR =1 SR Tt ot it

B. U IE@R IfS B AfefA®

C. Uifed & x4 qUT YR Sfrawaehdl-

D. eI TRgd B,

E. IMTEH Thdl 9 g1 g2 o g

ABDCE

A

B BDACE
C EDABC
D

CDBAE
Correct Ans : A

Subject : General Hindi graduate

QNO: 94 R @ a1 “UeRII” 1 WTGAT® U1 U BT 22

2666393

A USRI

B a3

[ LENE
D YR

Correct Ans : C

Subject : General Hindi graduate

Q:No: 95 fpferfr & wweToTOr vl HH-Y B2

2666579

A @,
B s q9
[ 9,9
D S, S

Correct Ans : C

Subject : General Hindi graduate

Q:NO: 96 LR & § o ad) aTdl TIeg @1 9 BRI

2666647
A wdfafea
B ftdwm
c SFTaie
D THIE

Correct Ans : D

Subject : General Hindi graduate

Q.No: 97 = & ¥ Iwfo fawey o1 7o o Rad =i Ft gfif pifome-

2668092
W ST o 78T FepTan S
A et
B k3l
c EGd
D ™

Correct Ans : B

Subject : General Hindi graduate
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Q:NO: 98 Lo & @ 1S5 & P10 I & —wis-we ¥ i wge fg P d 2

2668355
A g g
B I fag
c RIECAE
D ol g

Correct Ans : C

Subject : General Hindi graduate

Q.No: 99 =R W= # Uig o AT MY B1 §% 39 ORE HHeG P 6 379 T arefyef ufkede s 9, i 39 a1g fw T st & & Ot fawea &1 907 S
2ooaasz A 30! SfRTT Fel B ST

B WIS ¥ B M9 & AT-89 F ¥eY ¥ JoH I3,

C Trfae q=mel # o gag IHE-9H W

D S & IRdfad e=a SIR Sftad &t

E YT B, 981 W= Hfd g B
ABDCE

A

B BDACE
C EDABC
D

CDBAE
Correct Ans : A

Subject : General Hindi graduate

Q:No: 100 iyt # & g ackl a1l e T 9 Bife-

2731774
A oot
B gyt
C glex
D SR

Correct Ans : B

Subject : General Hindi graduate
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